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The figures in the margin indicqte
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions: 1x7=7
wero Al eTaRE Oed ¢

(@) What is the value of ionic product of
water at 25°C ?

25°C BaEOIS AT AT e T R
(b) Name one reducing disaccharide.
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__Wnte the mathematmal expresswn of
,Clausms-Clapeyron equation. o
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OUt'Of formic acid and acetic acid which

' one Would you expect to react with

.. ‘Tollen’s Teagent ?
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.Draw the anary structure of prOtem
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. The ‘Gibbs’ phage rule i 1s
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(g) Which one of the followmg amines Wlll

2. Answer the following qﬁestio,ns :

not show carbylamme test ?.

.-W@WQ%WWWWN?
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(i) GHCH,NH, -

(i) (CH;),NH

(iv) (CH,),CHNH,

2x4=8

weig el R e ¢
(a) Write the number of phases and number - -

)

. of compenents present in the ‘following -

system :

wﬁmmmwmm@vﬂwmﬂn
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G N, (g)+3H2(g)—*2NH3(g)

(i) . Solutlon of acetic acid i 1n water . -

AT éﬂ%ﬁ‘@ 9 foor w3

How does the molar conductmty ofa

.weak electrolyte vary W1th dilution ?
' Explam ‘ -

3{Sem-4/CBCS) CHE HG/RC/G 3 . Contd.




()
C ‘and Kb values. Why ?
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How would you convert p-nitrobenzoyl -

chlonde to p—mtrobenzaldehyde ?

MWWW?

Amino acids have exceptionally low K

«ﬂﬁwﬁwqqalf WEK, amﬂc@wﬁm?

~ Answer the following questlons (any three)

5x3—15

' Wﬁmam%mﬁm 3 (Ricizn fofaot)
@

What is tertlary structure of pl‘Otein ?
Mention different types of interactions

g involved in tertiary structure of protein-

(b)

1+4=5

aﬁmm@ammaﬁmmﬁamf*
ﬁmmmazaf@masﬁm?

‘Draw and explain the phase diagram of

Wwater system. Why is the phase diagram

- of water system different from that of

cther one component system.
. o C 2+2+1=5
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Give five points each of sxmﬂarlty and

dissimilarity between glucose and
fructose..

@ﬁwﬁ’wﬁmwmm |
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Explam the pnn01ple of conductometric

 titration of a strong acid vs. strong base.

@aw—@awwmﬁ@ﬂmﬂm |
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At 25°C, the spemfic conductance of
carefully distilled water is 58.0x107 Sm- '

and the A°m values for H* and OH" ions

are 349.8x10% Sm?mol! and 198.5% 104

" Sm2mol! respectively. Assuming that A,

differs very little from A°_, calculate the
ionic product of water at 25°C

25°C m\_ﬁ mﬂm ﬂ%@w ’lﬁa ﬁ‘%
ARRIROI TN 58. 0x 107 Sm! IWH‘WOH“

| ORI A & W TG 349.8x 10~ Sm2mol!
G 198. 5x104 Sm?mol 13 A_SE A F
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AT ST BT AW o A |
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4. Answer the followmg questions : (any three)
: '10x3=30

' : w—ﬁmm«ﬁmﬁm (%Wfﬁﬁr)

(@) Discuss how ‘the primary structure of .

peptide is determined.

.Cﬂﬁﬁmm@amﬁmﬁﬁwmw :

WI

" * . (b (i) - Explain a method of conversion of
' . glucose into arabinose. 5

| @WQWWQTWWG’WW
RS

(ii) How.is benzened'iaZOnium chloride
prepared ? How is it convertéd to
benzene, phenol, and p-hydroxyazo
benzene ? 2+3=5

| (AR SROTRAN $I%T e dws
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: (c) Discuss the mechanism of the followmg
conversions : . ' - 5x2=10

- oo Al oGRS AR ettt 2o 2
y (i) Benzaldehyde to cinnamic acid =

mm@iﬁw’r?mmama
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(i) Acetamide to methanamine
Af5EuRGS Rtz -
What is eutectic point? Draw and
explain the phase diagram of Pb- -Ag

system. Write two uses of eutectic
mlxtures . - 1+(3+4)+2=10

i@cﬁa?%ﬁ'ﬁﬁs? Pb-Agwm%amﬁs
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(e)

() Whatis meant by transport number
of an ion? Explain the method of
its. determination by moving

: boundary method. 2+5=7

'Wﬂﬁﬁ@@{ﬁmﬁsqm?m :
wﬁﬁmw&mﬁcﬁwmm :
=M |

(i) A,moving boundary. eXperiment was

- carried out with 0.01M solution of
KCI (specific conductanceé = 1.29
Sm') using CdCl, as the indicator
electrolyte. A current of 5.21 mA
was passed through the tube of
0.230cm? cross-sectional area. It
was ‘Observed that the boundary'
moved through 4.16cm in 1h.

- Calculate the mobility of K* ion.

3
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 3R0.01 MsivoR KClwr (RFR «iRaifZet
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() Define critical solution temperature
What do you mean by upper-critical
solution temperature and lower critical |
solution temperature ? Explain -the
phenol-water binary system. Explain the

effect of impurities on critical solution
temperature. o 1+2+5+2=10
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